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Multiplication Fact Strategies
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Decimals Review

Adding and Subtracting

When adding and subtracting decimals, you must:

1. Arrange the numbers so the decimals points line up directly

on top of each other.
2. Add or subtract as usual. Be sure to pull the decimal point directly down to the

N

Multiplying
When multiplying decimals, you must:

1. Count the total number of digits o the right of the decimal points in both
numbers.

2. Multiply both numbers together.

3. Starting from the right, count the same number of total decimal places, and

T T T SR P S A ST

answer.
24.5 + 85.4 = S48 423 -2.1= 423 insert the decimal point.
+ 85.4 =21
109.9 2.13 1.5x.62 = : 162
Lining up the decimals makes sure you are adding and subtracting 9'3
.X\W the correct place values. '
Why?
10.2 dividend i
Dividing 102+ .51= —0— =.51)10.2 —— = quotient
When dividing decimals, you must: divisor
1. First, “get rid of"the decimal in the divisor (the number you are dividing by quotient
— see example at right). To do this, move the decimal as many places to the /\ /]
right as necessary to make it a whole number. divisor 5 1 ilO 2 dividend
2. Move the decimal the same number of places to the right in the dividend (the
number being divided - see example at right.) You may need to add zeroes to
this number to accomplish this. A0
3. Divide normally. . )PP o ;
T dieal BL]I0-2,0p 11T, b drome!
Move s -i-wo p\nuS/ 10 2 "ijhi-. BN oy
Movmg the decimal the same number of places on both the to +he right, e o 1
diviso he dividend is the same as multiplying both by the 6o q a zero.
. Why? same number: 10 or 100 or 1000 and so on. o
-
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Triangles
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A{)("B Cmr ’X'.\o»\\‘ A;vi&ms both Sides ba o

Selve. Eim) the Solukion

Solukion: & wewber Yhal wselse \wiakes Yhe Eqpation true

YOU Cowvi Selve !

C*‘U =d Fovr Y Ib\:) Sv. o \-ro\c,-\—mj C €com bothh Sides




A ational  numbee 1S ony 0 ber

Fhot can be witten 08 0 Frockon

v

(or 070y — =

Ex V5 5 .75 11 .3 -3 03w Q

They are all whole numbers Terminoing
/

docimls and olf (wmim cﬁmmi

wheffor positie or regnfie
: \3

— f ) E
Lrradona ] Womeers

i ﬂ\_./'www‘ e T S

A non-ter mineting , non - repecthing

decima ke

tx"ﬂyﬁ

11,
,t\U,&OH/(’r’C VOU\/U(;

of any number s ifs distance

forn 07on & number lwe,

Ex: I8¢5

12112

lol = 0




i medh ace Wwo numbars

~thod ore e some dts‘ranCQ
Crom 0

12 ond -1

-1 and 7.|

The symbol for “Ye oppisite of ™ {fs “—"

- is NOT “negadive 0

“—a" 15 “4hg, OPPOSITE of &

tactors
are  Whok ny\mb@m H\m con he

mudbiplied  fo rc%uj%“ N & qw&n prodw(t
Ey: Factore of ¢ are

\, 1,4 S
Twe Gregfest Common Factor

of 2 (or more) pnuwmbers g

Yhe \otquS+ numbov x\m .

| A mu *'\\p\Q/ ot o nuwm bevr jg a n(,&’t"ﬂaﬁ{‘;
_Wou . Can find by S\<\~Q -Colnti ng  or
mw\’i\\@\u\\ 0oy by O whole  number

RN B 17
YD 3o, T




